MAIIRCY

POWER CAGE

SM-8117

Y/

/,

&

IMPORTANT: Please read the Important Safety Notice and Assembly
Information in the Owner’s manual before assembling this product.

Assembly Manual
180326




©IMPEX INC. 1 WWw.marcypro.com



()

©

X22 (29 X24

[

|

[

@]}MMMWM

mm

(26) X8

(27 X14

0 1

2 3 4 5 6 7 8 9

10 11 12 13 14 18

©IMPEX INC.

WWW.marcypro.com



M10 x 3 &
M10 x 2 g

¢ 3

®

M10

)

WWW.marcypro.com

©IMPEX INC.



M10 x 3 "

M10 x 2 &

¢ in
M10

© €

® ©

WWW.marcypro.com

©IMPEX INC.



M10 x 2 ¥

¢ 3

M10

WWW.marcypro.com

©IMPEX INC.



M10 x 2 ¢

M10

27

]

©IMPEX INC.

WWW.marcypro.com



WWW.marcypro.com

©IMPEX INC.



©IMPEX INC. 8 WWw.marcypro.com



] ® O \
D) ©® @ & NG
ST E /® @\ /®
@ ¥ [ o
q; i ON
g ©
| P @ (0) @
ﬁ@ ~~~~~ 'D@% O Oy ®
V=SB0 0 = glfl a0 0@
d ot Alg Tt
V02 @ 00 k)‘ﬂfﬂ%@
@ @ | Lf,’/_ @ ks‘;ﬂﬂ V4
— S © O L g ©
? ————— /"" o © g ! —E\®
i I e
)
©IMPEX INC. 9 WWw.marcypro.com



IMPEX® INC.

2801 S. Towne Ave. Pomona, CA 91766
Tel: (800) 999-8899
WWW.marcypro.com

support@impex-fitness.com

©IMPEX INC.

10

WWW.marcypro.com



http://www.marcypro.com/

